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=3
Hotm o @Es Jl2 XD
E&Z t¥E JIsE=S o
M- BB Sl (B) - HIRAY - Ba S sk oy e 2
OXts & I sA2e E= 10,000
= 5,000
L= 5,000
403 Kt XIEHHIS A= 0|1 & 2,673,946 1,916,022 757,924
= 2,673,946
01 RtXIEH 2L X 2,673,946 1,916,022 757,924
QUMD =2 S A (44A1) 2,673,946
= 2,673,946
405 AHetE S HI 90,000 0 90,000
= 45,000
L= 45,000
01 XML EZFHSHI 90,000 0 90,000
Os=sgMal S7XA X, JIXM 90,000
= 45,000
= 45,000
QU EZ Jl= XD| Fat 220,800 82,000 138,800
201 Et2dd| 10,000 10,000 0
01 AtR2tel 8,000 8,000 0
OJl=Ec AIMAIY F& BRI 8,000
02 2324l 2,000 2,000 0
QJIeE2 AMHEMY X RESYS= 2,000
202 (44| 5,000 3,000 2,000
01 =2 WA bl 5,000 3,000 2,000
OZgdl 2ZJI& I J=sXA 5,000
403 AtXIEHH S X201 ™ 205,800 69,000 136,800
01 XIS AEE X 205,800 69,000 136,800
OH F=ZTI M3t AY 60,000
OJlsd S0 d& ABHEN 54 36,000
0S4+ B MBN BHAH 19,800
O=H NS HE B 90,000
a2 FERE JlesE2 464,800 523,840 259,040
= 100,000
= 301,000
& 63,800
H SHELAE MDA (=) 100,000 75,000 25,000
= 100,000
403 Kt XIEHHIS A2 0| & 100,000 75,000 25,000
= 100,000
01 RtXISM 2L X 100,000 75,000 25,000
OJI=EA=EH HACCP HEAIEH 100,000
= 100,000
o9 E3AIY 2435t 301,000 350,000 A 49,000
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2M: sgll=d
My HFOE o TE3 &N
Ol ASKS ZREN IR (=CR-E
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
= 301,000
403 XHXISHHSAH20| A 301,000 350,000 49,000
= 301,000
01 MXIEM A2 E X 301,000 350,000 49,000
OXEEHL3 301,000
= 301,000
MER=E 24 S2EQHE S 63,800 98,840 N35,040
202 (4 Hi 5,000 4,840 160
01 20| 5,000 4,840 160
ol s g4 SEXJ|=XH 5,000
403 XX S S K201 ™ 58,800 92,000 A\ 33,200
01 MIXIEH A2 E X 58,800 92,000 A 33,200
ONlAS M&tRSF HNFH ASJANYE 27,000
©OHigh Brand s4tE & AJHEX 24 12,000
OFHA &8 MEWHUX E22Zs8 &S 19,800
9= &)z XD AE3 3,733,882 4,298,089 A564,207
= 494,446
& 3,163,000
< 76,436
WetA=s X)) =X (=2D) 334,892 291,664 43,228
= 320,696
= 14,196
201 LBEt2HH| 13,392 9,164 4,228
= 6,696
& 6,696
01 At 22|l 13,392 9,164 4,228
ogdis gH WEEEX & 22 =8 13,392
= 6,696
= 6,696
202 (4 Hi 15,000 12,000 3,000
= 7,500
== 7,500
01 2| 15,000 12,000 3,000
OoZ2Z24dis 9N ¥ EXEHE J=X& 15,000
= 7,500
= 7,500
308 XX S SO0l A 306,500 270,500 36,000
= 306,500
01 AXIEMBIAEEZ 306,500 270,500 36,000
OUsStASsHH|2H(BAIY) 306,500
= 306,500
A s 45t JsX2(=21) 2,104,000 2,618,000 514,000
= 2,104,000
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SN Se|&d
B BN U HEs J|2N
thel: 9= &8Il 2D 223 (9 E2
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
403 XX SHHIS AH=0[1 & 2,104,000 2,618,000 A514,000
= 2,104,000
01 AXIESXHA2E L 2,104,000 2,618,000 A514,000
oXNg=g E43t 2,104,000
= 2,104,000
NSRS ASTAFHAAG (2 1) 1,059,000 970,000 89,000
= 1,059,000
101 el124d| 18,096 17,160 936
= 18,096
04 JI12HHZ22NSES 18,096 17,160 936
OSE3s&=E Mg AMHFN 18,096
= 18,096
201 B2 | 3,619 4,840 AT,221
= 3,619
01 AR 2teld| 3,619 4,840 AT, 221
Esta=z MAStAgEd A FA 3,619
= 3,619
202 ¢ddl 4,000 6,000 A2,000
= 4,000
01 SLHA b 4,000 6,000 A 2,000
OSSA= pMstAYEAT At F2 4,000
& 4,000
301 et a3z 4,000 2,000 2,000
= 4,000
10 HAAHIE A= 4,000 2,000 2,000
OSst&=s Mg AMHFN 4,000
= 4,000
403 XXM S X201 M 1,029,285 940,000 89,285
= 1,029,285
02 SISO CHSHCHH Ar S I 1,029,285 940,000 89,285
OE3&E AstHEEAHAIY 564,585
& 564,585
OSHHS APMNY N XA 464,700
= 464,700
sHE2Y 24 (=1) 12,300 98,500 A 86,200
= 9,900
& 2,400
201 L EH2FH| 3,000 11,900 A 8,900
= 1,500
= 1,500
01 AR 2teld| 3,000 11,900 28,900
OEHIZ=RE H&ZAAE 3,000
= 1,500
& 1,500
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S Iz
Mo 0N Y HE3 JsNd
Coll 95 BEIE XI| A8 (Etol & e
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o e HRE2
202 04l 1,800 1,200 600
= 900
= 900
01 2UH 01| 1,800 1,200 600
SO2E HYALY 1,800
= 900
= 900
308 X+l £ M S0l & 7,500 79,500 AT72,000
= 7,500
01 IR Z A XS 7,500 79,500 AT72,000
O+ESMENNEDS 7,500
= 7,500
I AJlE XD| AES 26,840 56,000 £29,160
202 04l 5,840 6,000 A 160
01 2LH 01| 5,840 6,000 A 160
ONTNY ADIE XIS 5,840
403 X+ X EHHI S XH2 0l & 21,000 48,000 A27,000
01 RIS K= B X 21,000 48,000 £27,000
O #Z LPEI|E Best OIS AHSH 15,000
OEZY RYY =222l JI2AY 6,000
A=Y HEIEX 23,000 263,925 240,925
201 Lere | 10,000 24,000 14,000
01 At 22l 10,000 24,000 14,000
OBFIISXE B AYEX 10,000
202 04 7,000 7,000 0
01 2LH 01| 7,000 7,000 0
OSEEY J&NE 25 1S =X 7,000
301 LerE A 3,000 11,000 /8,000
10 #AAIH B A2 3,000 11,000 8,000
OXEY HFIZNY DS HIHsYol 24 3,000
403 XHXI B M S XH2 01 & 3,000 165,000 162,000
01 REXISHAI K2 & 5 3,000 165,000 £ 162,000
os¥™ MHAX BOIS =4 3,000
SHHEYIIE HEMESH(2D) 47,000 0 47,000
= 37,000
= 10,000
201 2Bre | 8,000 0 8,000
= 4,000
= 4,000
01 AL 22l 8,000 0 8,000
OSIHAYTE HLNHIA 29 8,000
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M sIIE
A & 2 E23 JI=XA
Crol: o BA)E X)| A3 SR
SN EY O (BH) - MRAY - BLS Aol e =2
= 4,000
& 4,000
04 8l 8,000 0 8,000
= 4,000
& 4,000
=L bl 8,000 0 8,000
OIS HLAMHIA S 8,000
= 4,000
= 4,000
AutBAS 4,000 0 4,000
= 2,000
& 2,000
HALAHIEAZ 4,000 0 4,000
OsIHEF A M MHlA AHIE4 4,000
= 2,000
& 2,000
AR EH SOl 27,000 0 27,000
= 27,000
AXNSHBNELZ 27,000 0 27,000
OIS HEAHIA ALY 27,000
= 27,000
golls S J=XE(31) 126,850 0 126,850
= 126,850
308 KX SHHSOIA 126,850 0 126,850
= 126,850
01 IXHHBAEES 126,850 0 126,850
Ogolls S, 2FZ2F X 126,850
= 126,850
SENEINXEE 2,786,588 2,392,888 393,700
= 780,000
= 1,745,000
& 261,588
SEEHSEA 2,032,888 1,704,288 328,600
= 740,000
= 1,250,000
& 42,888
MIl=EZAE(=21) 600,000 440,000 160,000
= 600,000
403 Xt XIEHHIS A2 0| & 600,000 250,000 350,000
= 600,000
AR SHH A2 E X 600,000 250,000 350,000
OsitE JIBJIs=AIY (bAIY) 375,000
= 375,000
SE0HILIEl 28I (4AHEd) 130,000
= 130,000
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FA sg@II=2

M SEXNRIOXNEE

ool SEHUNSA (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 e HIRE

O=geol et I|=(2ArY) 95,000
= 95,000

sEALE0IESHE(31) 950,000 750,000 200,000
= 950,000

308 AHXIHMSOI A 950,000 750,000 200,000
& 950,000

01 HXHHBAEEZ 950,000 750,000 200,000
O=EA2ZE012(384) 950,000
= 950,000

sHATHHHL (2 2) 140,000 150,000 A 10,000
= 140,000

308 XX SHHMSOIA 140,000 140,000 0
= 140,000

01 HIXHHBLEEXS 140,000 140,000 0
O=&Y CHM DA (3IHA) 140,000
= 140,000

SHHSZNLBHOIEHIXA(Z1) 300,000 300,000 0
= 300,000

308 AtXIEHMIS 0l & 300,000 300,000 0
= 300,000

01 HXHHBAEES 300,000 300,000 0
OSHY BANL HOIFHIXE 300,000
& 300,000

sEMg 2435 K& (XHA) 42,888 64,288 A21,400

202 044l 7,588 7,588 0

01 S LHAbI 7,588 7,588 0
OsEME 45 =X 7,588

308 XXM S0IA 35,300 56,700 A 21,400

01 IXNHHBESEXS 35,300 56,700 A21,400
Oselol AYB2AA 2 (130H4) 35,300

SENIEE LSt 636,000 542,500 93,500
& 495,000
= 141,000

NeeglsE23(30) 495,000 465,000 30,000
= 495,000

308 XX SHHMSO0IH 200,000 365,000 A 165,000
= 200,000

01 IXNHHBESEXZ 200,000 365,000 A 165,000
OSENEES B45H(2M2) 200,000
= 200,000

403 K XSS AH=01 & 295,000 100,000 195,000
= 295,000
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FA sg@II=2

M SEXNRIOXNEE

el SEANEEE L

SN HH .S (BH) - A - Ao dd = HRS2
0 &+ 08

01 RFXIEHXI K 295,000 100,000 195,000
O=sgeol (4AH) 295,000
= 295,000

AR HeEZ 141,000 77,500 63,500

202 (4 Hi 3,500 3,500 0

01 2| 3,500 3,500 0
oA=& M 3,500

403 XHXISHX S At 137,500 74,000 63,500

01 MIXIEMAZ2E X 137,500 74,000 63,500
oXd A A 15,000
OsZ=NMSHID [ & 13,000
Os&E04 = 30,000
o=sgg A 75,000
Os&ENE 4,500

SEQHESHINY 117,700 146, 100 N 28,400
= 40,000
= 77,700

SgEMEoIHAS 42,500 60,000 A 17,500
= 40,000
& 2,500

201 ¢B8tE¥H 4,000 1,000 3,000
= 2,000
& 2,000

01 AR 22| 4,000 1,000 3,000
OsZE04deld ¥8 s 4,000
= 2,000
== 2,000

301 LEtB A= 1,000 0 1,000
= 500
& 500

10 HALAIHIE 1,000 0 1,000
O=s&04d YHNE 1,000
= 500
= 500

308 X XISHHS 37,500 59,000 A 21,500
= 37,500

01 AbXIEHHE 37,500 59,000 A 21,500
Os=04 7,500
= 7,500
O=MAIM 30,000
= 30,000

MEDNAHS 4 57,100 49,100 8,000

201 LBt 2| 17,000 0 17,000
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SA: =
PSS ROIX &=
SEF =Sl R
I .G (BH) - MBAY - BAS Abol e =2t
HAFZ G HI 17,000 0 17,000
OsZ&E & ANMU TS 17,000
M E Hl 1,000 0 1,000
MEHl 1,000 0 1,000
O=sZ= MEX AN TS 1,000
Qg A= 2,000 0 2,000
SHAFAIH| B2 & 2,000 0 2,000
O=s&E M ANYITF 2,000
oI2+0| & 10,000 22,000 A 12,000
QI2HAAME X 10,000 22,000 A 12,000
OMEINHT EH3 10,000
308 XtXI &l SOl 27,100 27,100 0
01 RbX| EHXI & & 27,100 27,100 0
OMEINLTZ ME £2(5,420H) 27,100
g3 Jl=zus & 18,100 37,000 A 18,900
82 AL 16,100 22,000 25,900
At 22| H] 15,100 19,000 A 3,900
Os&= A& = 12,000
OMEI = 2N 29 3,100
HAF2 S HI 1,000 3,000 A2,000
Os=ne 5 1,000
Qg A= 2,000 3,000 A 1,000
10 HAIAIHI B2 A= 2,000 3,000 A 1,000
OsEXNE HAXNEA WS 2,000
HYSHAH (sLI=L) 7,386,974 6,890,132 496,842
= 10,804
= 7,376,170
u] 7,105,427 6,610,865 494,562
= 10,804
= 7,094,623
olAdl K& 6,452,341 6,065,483 386,858
Ol A H| 6,246,421 5,867,363 379,058
B 6,246,421 5,867,363 379,058
(OPIE=r=; 4,707,698
o=z 4,351,497
A=A 70,166
43 5,847, 1603 x 1H x12& 70,166
SIEIES 3,582,580
- 62 2,970, 100& x2H x12& 71,283
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A E=PIEL:!
M HZy2ITH(sII=¥)
Pl e 2 gl (el &
RA B SA(BH) - NRAY - B 0fl &t e HRS2
= 2,193,500& x 18«12 26,322
8= 1,968,800& »2H x12& 47,252
o 12 4,294,500 * 11E « 123 566,874
A LA 2,785,700 x58EH »12& 1,938,848
QPN 4,139,200 x6H « 123 298,023
PNV, 2,703,600 »18E x12& 583,978
s 748,751
= 2,732,000 x3& » 12 98,352
82 2,427,3002 x 13 »12& 378,659
- 938 1,617,500 148 * 122 271,740
Ood0i= 356,201
-2+ 4,274,410,000&4+1/12 356,201
o= 867,484
OJE= 96,000
I, 40,0002 1068« 122 50,400
-RIE 20,000 x190 «12& 45,600
OXMHSHIE R+ 38,104
-5t 51,9903 22 42| 4,576
-0SE 419,090& x20H *4 2] 33,528
Oodz+=Eitet= 134,400
260/ & 130,000& »32& «12& 49,920
-20= 01 &~25E 012 110,000& x21E +12& 27,720
—-158 01 &~20= 0] 2t 80,0002 »44E x12& 42,240
-10= 01 &~15E 0] 2t 60,000 x11E«12& 7,920
- 501 &~104 0 2t 50,0002 *11E«12& 6,600
OofIg=2*R+¢ 48,000
43S 50,0002 x80E x12& 48,000
OURERE+Y  217,808,000& *4. 1%+ 123 107,162
OREsRA+E 50,000 x4H *12& 2,400
OS+g*R=¢ 95,160
l=dEsE 28,920
PN~ 60,0003 «6EH *12& 4,320
- K& AM 50,0003 x18E *12& 10,800
JlsTs 30,0003 x2 123 720
- JI=s8=016t 20,0003 x20H * 122 4,800
- b= 30,000& x23H x12& 8,280
-HAgRsE 80,000 x69H x12& 66,240
OoaelgR+d 57,294,000 x7 & 7 .8% 31,283
oz &g 70,0003 x10E *12& 8,400
OS=A=22+¢ 10,920
-=Xl 40,0003 x16H 12 7,680
=N 30,000 x9H *12& 3,240
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S Iz
=T KB E = PIEC))
cHel: ol 2 | EERED
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
OAIRteI 2244
8,078 1228 x25AI 2Hx128 295,655
OF U Al 130,000 +00%] 12 140,400
OY = EIH| 4,274,410,0002! 1/ 12%120% 427,441
Ot Al 103,398
OIZR 70,166,008 +1/12566%1/30% 10 1,287
Os=H
4,274,410,0002! » 1/ 12+86%+1/30+ 102 102, 111
204 XD 43| 205,920 198, 120 7,800
02 =32 x| 205,920 198, 120 7,800
023 650,000 «2% + 122 15,600
043 400,0002 + 102 12 48,000
053 250,0002 «7% * 128 21,000
063 155,000 x512f « 12 94,860
073 140,00021 ¥9 * 128 15,120
08-93 105,0009 ¥9Z * 128 11,340
A2YAC DAY 131,860 112,556 19,304
101 2124t 131,860 112,556 19,304
03 LI HA22E S 131,860 112,556 19,304
OAE Zeld 22,581
OJlzg 40,0009 12 %2612 10,440
04013 10,440,000%! / 1294 2 1% +43] 3,480
OR3sY+g 40,0002 *12 x50 2,080
OAIRte| 2248
8,489 * 150%+ 12 *10AI 2+ 1074 2 1,274
OURRIEIN+Y 67,9082 12172 1,155
OY = EIH| 300,000 * 12 x23] 600
OS Al 130,0008 + 12 * 1204 2 1,560
ORSH 50,0002 12 * 1204 & 600
OHHLLZ(AHSEHE) 16,000,008 +8. 7% 1,392
O] 109,279
¥/ 33,0002 +52 %2612 49,590
O40i2 49,500,0002! / 1274 2 * 12 x43] 16,530
OR3EY+g 38,0002 5% %522 9,880
SEPIEEPIIE
49,590,000 / 127H 2 * 10%+ 12 «304 & 1,240
OAIRteI2R4g
8, 130! % 150%+52 * 10Al 2% 1074 2 6,008
ORI EIN+Y 65,0412 %52 »172 5,529
OY = EIH| 300,0002! +5% +23] 3,000
OB A 130, 0008 5% * 1204 2 7,800
ORSH| 50,0002 52 * 1204 & 3,000
OHFSLZ(4UBEE) 76,000,002 +8. 7% 6,612
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M sgII=H
I HH2HAH (sII=-)
& QI 2AY| (&9 HM

_ _ N E
M« B2 - S2(3H) - MRAY - BaS 0 & 24 e 2
O AISAFA 260,266 223,977 36,289
101 21 24| 260, 266 223,977 36,289
03 RIHAZZUHE S 260,266 223,977 36,289
OAZE 223 22,581
OJl2a 40,0002 x1H*261& 10,440
odau= 10,440,000 *4/12 3,480
ORrsSsgdsd 40,0003 *1H x52& 2,080
OAIRteI 2245
8,489& x150%+ 1Z *10A| 2++ 1001 & 1,274
OAXtRsSFII== 67,9083 x1H+17 1,155
O EF It 300,000 1 »23] 600
O=24dl 130,000& 1+ 1201 2 1,560
Oust| 50,0003 x1H*120H 600
OHERYZ2(MUEEZ) 16,000,000 *8.7% 1,392
OH=L2A 237,685
oJlzs 38,0002 x11H 261 109,098
odu= 109,098, 0002 x4/ 12 36,366
O = 38,0003 »11H+52 21,736
OA2t 22+
8,130& *150%*11Z x10Al 2t+100H = 13,415
Oims&II=E 65,0412 x 11H+17L 12,163
Og&E St 300,000 »11H 23] 6,600
O=2d| 130,000 «11H 1204 = 17,160
Ounst| 50,0003 *11Z«1200 & 6,600
OHARES(4UEER)
167,200, 000& *8.7% 14,547
BE=sY AMEHTZAS 239,352 190,013 49,339
101 21 24H| 239,352 190,013 49,339
03 RIHAZZ2NHE S 239,352 190,013 49,339
OAZE2tel & 97,973
oJlza 40,0003 «4H #2612 41,760
S0z 41,760,000& /1201 & 43 13,920
O = 40,0003 x4 H «52& 8,320
OFJIZHIHt3
41,760,000 /120 2 +2/4H »10%*301 = 522
OANRI2IZE2=E
8,489& x150%+4 B x20 Al 2+ + 120 & 12,225
OgisssIt=E 67,9083 *4H x 17 4,618
O EF It 300,000 »4H »23] 2,400
O=24ldl 130,000& 4 1201 2 6,240
Ounst| 50,0003 »4H 1204 & 2,400
OHIERYZ2(MUEEZ) 64,000,000 *8.7% 5,568
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SN
X XH .
S Tt

el

Ol (BIH) - NRAY - BAS

20
B
2

S el 141,379
o=z 38,0002 6% +2612! 59,508
SNV E! 59,508, 0002 / 1201 & *43] 19,836
OR3FL+Y 38,0002 6% 5522 11,856
OL-SIEEPIINE

59,508, 00021 / 121 2 * 10%+30H & 1,488
SNECEEES
8, 1302 *150%+6% *20 Al 2+ #1201 2 17,561
OUNRBHEIN+L 65,0412 %6% * 172 6.635
O = F It 300, 00021 6% *25| 3,600
SN 130, 0002 *62 1204 B 9,360
OREY| 50,0002 +6% * 1201 2 3,600
OHISLLI(4HSHE) 91,200,009 8. 7% 7,935
SHS HHS o2 Jaxe(2D) 21,608 8,836 2,772
2 10,804
= 10,804
101 0121t 21,608 8,836 2,772
2 10,804
= 10,804
R HF22R 2 21,608 8,836 2,772
CET-EES 21,608
0J1=23 38,0002 %1% %2612 9,918
2 4,959
= 4,959
SNV E 9,918,002 1 4/ 12 3,306
2 1,653
= 1,653
OR3FL+E 38,0002 » 124 5522 1,976
2 983
< 983
SNE LR
8, 13021 150%+ 12 * 10Al 24+ 1074 1,220
2 610
= 610
OUNRBEIN+L 65,0412% 1% %172 1,106
= 553
= 553
O = F It 300, 00021 +1% %25 600
2 300
< 300
SN 130, 0002 #1124 %1204 B 1,560
2 780
< 780
OnEt| 50,0002 %124 % 1201 & 600
2 300
= 300
OEE-LEE 15, 195, 0002 +8.7% 1,322
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SN
X XH .
S Tt

el

K- E3 .S (3H) - MBAY - B Ao gggf; HRS2

= 661
= 661

| 2Z 4l 281,547 279,267 2,280

EASY JI2ZH(E2W) 125,057 123,281 1,776

201 L et2HAb| 17,377 15,771 1,606

01 AtR2t2lH] 14,377 12,771 1,606
ORNSY AR 224 14,377

02 324l 3,000 3,000 0
ORN2ZE 5529l 3,000

202 (4 Hi 7,200 6,720 480

01 2| 7,200 6,720 480
O8NS =0 7,200

203 P2 =2&H| 48,880 48,840 40

01 J|22HER=8H| 22,000 22,000 0
OdH 10,000,000& *1H 10,000
(OEFS] 6,000,000& »2H 12,000

02 Rt 2 =X 3,480 3,440 40
OXRJIIN= 40,0003 x87H 3,480

04 EA2ELRF=EH| 23,400 23,400 0
© 1521 0| &t 250, 000& x50 W= 12& 15,000
©30Q! 0| st 350, 000& 2 M+ 12& 8,400

204 AR A H| 51,600 51,600 0

01 AHZHRHAH| 51,600 51,600 0
OFFS] 650,000& x1H =128 7,800
oORH 600,000& x2H =12 14,400
oM 350,000& x7H *12& 29,400

2429 JI2F4(#=223d ) 24,958 25,654 N 696

201 LBt A 15,918 16,534 N616

01 At 22|l 15,918 16,534 A616
EA2d AI222l] 15,918

202 (4 Hi 8,640 9,120 AN480

01 2| 8,640 9,120 A 480
ORAN2YE =0 8,640

405 XA S| 400 0 400

01 AAHE 22 F SHI 400 0 400
OARA WHED 400

Aed Jl23d(KudH 320 20,730 23,826 A 3,096

201 LBt2HAH| 13,530 14,146 A616

01 At 22|l 13,530 14,146 AN616
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FH: =8l

XM ZH: SHXE o:]

o= S S
|

ciel: o122l (e &2
SA - SR(E) - HRAY - BES 01l &4 24 e HIRE
OBRANRY Al222l| 13,530
202 01| 7,200 7.680 480
01 2LHOI I 7,200 7.680 480
A2 2010 7,200
SN2 J2AL (B sY D) 16,902 16,722 180
201 Yer2 Y| 11,142 10,962 180
01 AtR 22| 11,142 10,962 180
ORN2Y AlR22I| 11,142
202 01| 5,760 5,760 0
01 2LHOIHI 5,760 5,760 0
oRAM2Y 20l 5,760
SN2 JI=AH (X2 D) 18,678 17,072 1,606
201 Yer2 Y| 11,938 10,962 976
01 AHRZ2IH| 11,938 10,962 976
OBNR2Y Al222lH| 11,938
202 01t 6.240 5,760 480
01 2LHOdHI 6,240 5,760 480
ORN2Y 2U0iYl 6.240
405 XHAHE S| 500 350 150
01 AL S EH S| 500 350 150
SR I=5] 500
SN2 J=ANOIsE2 D) 15,000 14,170 830
201 Yer2 Y| 9,550 9,370 180
01 AtR 2 2IH| 9,550 9.370 180
OBANR2Y A2l 9,550
202 01t 4,800 4,800 0
01 2LHOIHI 4,800 4,800 0
ORN2Y 2U0iYl 4,800
405 XHAHE S| 650 0 650
01 AL S EH S| 650 0 650
oTV 650
SN2 J2AL (M XD 12,022 10,342 1,680
201 YBr2 Y| 7.162 6,982 180
01 AtRZ2IH| 7.162 6.982 180
OBANRY A2l 7,162
202 01| 3,360 3.360 0
01 2LHOdHI 3,360 3,360 0
ORNE2Y 2U0iYl 3,360
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